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#include <stdio.h>
#include <stdlib.h>
#include <math.h>
#define N 10

int mainCvoid){
int 1,3;
int n;
double a[N][N];

scanf("%d",&n);
for (i=0;i<n;i++){
for (j=0;j<n;j++){
a[i][j]= 2*(double) random() / RAND_MAX - 1.0;
printf("%10.5f",a[i1[F1);

}
printf("\n");

return 0;

}
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#include <stdio.h>

#include <stdlib.h>

#include <math.h>

#define N 10

void printMatrix(double *a, int n);

int main(Cvoid){
int 1i,3;
int n;
double a[N*N];

scanf("%d",&n);
printf("%d¥n",n);

for (i=0;i<n;i++){
for (3=0;j<n;j++){
a[i*N+j]= 2*(double) random() / RAND_MAX - 1.0;
1
}
printMatrix(a,n);
return 0;
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void printMatrix(double *a, int n){
int 1,3;
for (i=0;i<n;i++){
for (j=0;j<n;j++){
printf("%10.5f",a[i*N+j]);
}
printf("\n");

return;
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#include <stdio.h>
#include <stdlib.h>

void printMatrix(double *a, double *b, int n);

int main(void){
int 1i,3;
int n;
double *a;

scanf("%d" ,&n);
printf("%d¥n",n);

a=(Cdouble *)malloc(n*n*sizeof(double));
b=(Cdouble *)malloc(n*sizeof(double));

for (i=0;i<n;i++){
for (3=0;j<n;j++){
a[i*n+j]= 2*(double) random() / RAND_MAX - 1.0;
¥
}

for (i=0;i<n;i++){
b[i]= 2*(double) random() / RAND_MAX - 1.0,
}

printMatrixCa,b,n);
// MatrixInverse(a,b,n);
free(a);
free(b);
return 0;

}

void printMatrix(double *a, double *b, int n){
int 1,3;

for (i=0;i<n;i++){
for (j=0;j<n;j++){
printf("%10.5f",a[i*n+j]1);

}
printf(":%10.5f",b[i]);
printf("¥n");

}
printf("¥n");
return;

}

[BobsNewPBG4-2:~/NumRecipeEx@5/Matrix] bob% ./a.out > matrix
2000
[BobsNewPBG4-2:~/NumRecipeEx@5/Matrix] bob% wc matrix

2001 4000001 40002005 matrix
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int MatrixInverse(double *a, double *b, int n){
double *x;
double pvt=0.00005,am;
int 1i,j,k;

fabsZ&fE> TLY
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}

x=(double *)malloc(n*sizeof(double));

for(i=0;i<n-1;i++){

if(fabsCa[i*n+i])<pvt){
printf("Pivot %3d=%10.5f is too small.¥n",i,a[i*n+i]);
return 1;

1

for(j=i+1;j<n;j++){
am=a[j*n+i]/a[i*n+i];
for(k=0;k<n;k++) alj*n+k]-=am*a[i*n+k];
b[j1-=am*b[i];

}
printMatrix(a,b,n); //KEXFTEDEICITET.

//Backward substitution
for(j=n-1;3j>=0;3j--){
x[31=b[3];
for(k=j+1;k<n;k++){
x[j1-=al3*n+k]*x[k];

x[j1/=al3*n+3]1;
}
printMatrix(a,x,n);

free(x);
return 0;
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#include <stdio.h>
#include <time.h>

int mainCvoid){

// timeB3#ZFIA

time_t ts,te;
double t;

time(&ts);
printf("%s\n",ctime(&ts));
printf("Hello\n");
time(&te);
t=difftime(te,ts);
printf("%4.1f\n", t);

// clockBa%a#FIHA

}
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clock_t start, end;

start = clock(Q);

printf("Hello\n");

end = clock();

printf("%5.2f\n", (double)(end-start)/CLOCKS_PER_SEC);
return 0;
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